AR TEBRRLLELEERT > AV URRREA

1095 &R pmid 28 L RARIEFREA

IHEEF) ey e - F e

[it13]

THEMAP (%) BEM(-)

AR -FUATBRRK
AT B A B P 5 (C2114)

>

TEARER—

-y

. HREREE 190 A4 e
L EBRE TR R EE A K 2 R RBA -
CHPHE SRR R - TR A F AR

. HiEAgE 40 4 -




L1

BESP(-)
H:E4 % 40 45> 5% 25 &~
Faé*“#v"%‘r'rﬁ&;:#"T%Jfaiﬁﬁﬁ?
(A)t &b Fe e ~ 2 E 40k
(B)#--kg 7R f2tF 33 § &2 a5 > T RIREP
(C)- uﬁﬁ;a\”{ﬁif@;i&z—?b’wg&erJ‘zéﬁ-ik:M%;{r
(D)2 & & -3 R &

TR YR A S A S BRI R A X g B hde 9
(A) Na,CO;
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(C) Cr
(D) Sn
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(A) X2Y3
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Tb3(PO4) sy =— 3Tb?;) 4P032aq)

(A) [3Tb*"][4 PO ]

(B) [Tb*'1°[PO3 ]?

(C) [3Tb* ’[4PO3]*

(D) [Tb**T°[POZ 1"

B 25°CPF > T AR Rk kit o P ks 2 (k2 Kw=1x 10
(A) pH=11

(B) pOH=1

(C) [H*]=10"* mol/L

(D) [OH]=10"* mol/L
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(D)4 # shi=® ¥ 3 # 7 ¥ % 46.2 kJ/mol
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C =12.0 > O = 16.0)

(A)% 7 3.612x 10*°® Ch +

(B)% 7 6.02 x 10°°1# C4H1,064 +
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(D)% 7 1.00&5 B H0 Rk +
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(A)E’ ~ T
(B)H ~ N
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(B) 10
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R=0.082 atm-L/mol-K)

(A) 7.00
(B) 14.0
(C) 28.0
(D) 42.0
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(A)E & F A~ % 59.09%
(B)x 2 » & 5 2.50
C)MAFEF » F 5431 %
(D)MA#A X2 kAR 225M
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(A) H,SO4+KOH
(B) HNO3z;+NacCl
(C) NaOH+KCI
(D) NH;OH+NH,CI
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(A)*e » MgCl,is %

(B)*r » NaOH/% %

(C)4r » HCI% %

(D)4 » % -k
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(A) BaCrO, (Ksp = 1.2 x 10'9)
(B) CdC,0, (Ksp = 9.0 x 10°%)
(C) CdS (Ksp = 2.0 x 107%%)
(D) CuS (Ksp = 3.8 x 107%%)
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(C)éT K I\|H3(aq)
(D) ik A f& HNOg3(aq)
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(D)3 = Al(OH)3(s)@ & % 48 T ik

303tk P v M F VWA E AR T UNERBRY F TN
RS T e

(A) Zn**
(B) Mn?*
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(D) Co?"
3Ltk P e r A FEM B e - BB AL S F kA A&
T 7 e ﬁgééﬂj” MG E - RS Tk A D

(A) Ca(OAc),
(B) Cd(OAc),
(C) NaOAc
(D) AgOAc
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8.40 % ~ 8.28 % > A
(A) 0.12 %
(B) 0.24 %
(C) 0.36 %
(D) 0.48 %

Ny

2 CaCOy #-F L £ &€ 2 37 &R 4
£ o £ 8 % 50.2682 g Pl#
A 7 § CaC03=100.00 g/mol -

34.&

’f{ v CaC03
C0,=44.00 g/mol)
(A) 60.00 %
(B) 65.00 %
(C) 70.00 %
(D) 75.00 %

35.4 - 5 7 NaCl#2 Na,CO; 7 4 3% 4% 1.061 5 & i3 ** 50 mL-k ¢ > & i
7% 7% 120.1001 M HCI% % i 7 3f %0 £ i %7 20.01 mL¥| ¢ % 2 >
Bl ¢ Na,COzeh 5 # 5 @ 2 (¥ 2 % £ Na,CO3=106 g/mol)

(A) 5.00 %
(B) 10.00 %
(C) 15.00 %
(D) 20.00 %
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37.%&'?& K KCIT;# % 0.3728g:% **50 mL-k ¥ > 12 AgNO3(aq)id i & 7 i

e F C ¥ TR ¥ X R % 2250 mL o E'JAgN03(aq)§%‘ R

E );v, = ® 2 (% 2 % & KCI=74.56 g/mol)

(A) 0.0555 M

(B) 0.1325 M

(C) 0.2222 M

(D) 0.3720 M
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(A)s fr 2 k&
(B)iFv® k7 % 7 &
(C)izr® i+ kR
(D)p k-kz2 & &
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(A & w5 fc % 3
(B)F % /% b sk ¥ ik
(C)ix # 4 3¥ &
(D)% & 3 T + & st
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(A)F 40 % 17 &
(B)ie 4p & 17 &
(C)& + & & 17 i
(D) & & & 47 2



